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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

2000

—_
+

ECdef
water_ec

1750

1500

1250

1000

750

500

WGlll;lls:

I ts—mtssing

150

200 250



Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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9.0

Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forXX6 0
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AyiE) | EBIATK (FD) | EBE (EHA/K) | KR R

07:55 170 200 |Z = Bi%@07:55 (FRFEHE)
08:50 170 20.0 |Z = 121%008:50 (ARFEREE)
09:45 170 20.0 |Z =& B31%@09:45 (KFEHE)
10:40 170 20.0 |Z =& BRi%@10:40 (KRAERE)
11:35 170 20.0 |Z =& BRiget11:35 (kAfERERE)
12:30 170 20.0 |Z=& Bi%@12:30 (RFEHE)
13:30 170 20.0 | =& B1%@13:30 (KRFERE)
14:25 170 20.0 | =& Rige14:25 (kKAEREE)
21t 1360.0 (87%%) 160.0 323 KEC: 2538.9, PH: 6.5

EORGEBR AR IRIRBYEN (170.0 vs 71.0))

ZRIA L PRIEET48. 0 ml.

[E&REC 4460.0 K5, Y F{KECHE;&P%ER
HEERECE (2821.0 vs 4460.0) RS
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